]
113~ 114& R F = 3 f 5 F 29 REP L iy 4

BB e # spc AR a4 R | 2B AR [ #AEA
FR BT ZR %4
% RETIIER &3 0.4 0.806 | 0.875 | 0.14
113'&&?"&?”'?% ;a’
(B)

113# f;{ln\ﬁjaﬁgm ¢ 37
(O)=[ (B34 B14(A)] > g
LS

113# A2 % & &30~ (D)

FrENET 2RI L LR
-7 * ()

113# & 53" 4 #
(F)=(C+D+E)

113# B % % -3
(G)=(C)*10%

113# & & fefs i 2. L 37
(g 32114 R)

UECRREE R Sl R &

11341)*21* X R A HBH)
F1HOr A0

ol
- ~113F BRA D b P ERp A B 2% 4BEL A B 12% 0 B E BirA R 2
16. 5% °
I RVRPEE SR TIER T BB L F X L A K IARE > F
WEERMAT NP LRI o § P 02F BAvi R BB
JimftE o T A A NARA > 2iRE R FIAEFTS SR E
R LR e

~HE LG 113 R A EE(COXI0% 0 B B LA LA o

I




